MNWLEER

X & S105050000

Fittings for Insulator Type L (371013)

D @
M16
NN S
an [ =~
3 | i (f) ’ﬁ‘
: : ] : :
1 | |
| !
| |
i 316 < - ’
5 | |
| |
] T
U
(mm)
FE3E | A B c L S |HREsS
L65F| 65 | 108 | 83 | 175 | 70 | 1.00 kg
L75F| 75 | 118 | 93 | 175 | 70 | 1.15kg
L90FH| 90 | 133 | 108 | 190 | 60 | 1.40 ke
B B & 4 HE ® B " &
1 L8 1 SS400 FB50 X 6
2 BARILE-ZFTILFuk 15| 3400 ®16 Mi6
3 (Lt £ 1 SUS304 M16
4 | BIVEY 1 SUS304 b4 %40
5 | BiRpDHALEF VU 1 | SUS304 M16 /I

15



HNLLEER

[%]# S105010000

Fittings for Insulator Type T (371003)

M16
50 //— B
_?/ - /@
[
- ONY e
O 1
B e —
| it
! 16 < | i ‘ i |
T Wy
S - >
- _ v _T_
(mm)
fEfE | A B L S |HREsS
L65F| 65 | 178 | 160 | 40 | 1.10 kg
L75F| 75 | 218 | 170 | 40 | 1.20 kg
RIS B & 4 #H= ® B " &
1 L% 1 SS400 FB50 X 6
2 TLe 1 S$5400 FB50 X 6
3 | BRILK 1 S$5400 ®16 Mi6
4 | KAaFvk 1 S$5400 M16 1F&
5 NETVE 1 S$5400 M16 3F&
6 (Lt £ 1 SUS304 M16
7 | ElYEY 1 SUS304 b4 %40

16



MLLEE

TH KT ILF bk

v N
3
Fittings for Insulator Type T Triple Nut %(8313?832900
50 B
7 B
© 1 ?
(- — T T —— — )
i
A
A e
~ 6
— 4
|
16 Hl\
. N
fE¥E | A B L S |HREsS
L65F| 65 | 178 | 330 | 240 | 1.35 ke
L75F| 75 | 218 | 340 | 250 | 1.46 ke
B B & 4 HE ® B " &
1 4% 1 SS400 FB50 X 6
2 | T4 1 SS400 FB50 X 6
3 | BRILL 1 SS400 ®16 M16
4 | RAFI+ 2 | SS400 Mi6 138
5 | RAFY+ 1 SS400 Mi6 3i&
6 (Lt £ 2 SUS304 M16
7 BUE 1 SUS304 b 4x40

17



MALLEE

E

I

Fittings for Insulator for Direct Suspension

[X]# S105160000
(37004600)

317.5 30,20
30,20, ©17.5 .
! R
__'_ |\
7 *
N ] |
ﬁ/ o I |
+- O
' B
O 1t | |
] | .
| | + D
<D 2 | || -
( H . X
c — ip]
5 1 in <D-| @
9 I | ~
T I | | -
( | __|
{9 o T {}}
| | |
|
© 1t 14 O
| |
] : i
! |
{i} 1 l {%)
_| 1
+ -1 1+
H B
|
_:_ l")_ Ny _:_ NY
[q\! [q\! [q\!
“ | )
6 ) 25 55 6 & 25 %5
\M \M
L65FEMF L75FRaMF
L=300. BEEE:127 kg L=330. 3EEE 140 kg
B B & 4 HqE # fr &
1 MRLLEE SS400 L50 x 50 X 6




NUOWLEE srzpen

Fittings for Insulator for Direct Suspension with Washer

X & S105230000
(37000500)

W
@)
N
O

$17.5

$17.5 302

O

25

25

46.5Xn

666006060

o
0600000
41.5Xn
|
_L+J___L#L__JﬂJ___L#J___LFL__JﬂJ___L+i_

23|
23

I|I
LLT¢J

o
6 & 25%5 6

L65F T
L=300. BEEE:132 ke

\®17.5

L75FRaMF

L=330. BEEE: 146 kg

i & &5 & A HE B m_ %
1| ALLEE 1| SS400 L50 X 50 X 6
2 | E® 1 | SS400 t6




75“/ \ L% E SRAEURILE M20

Fittings for Insulator Adjustment U Bolt M20

X & S105220000
(93140516-2)

80
@\ ‘ © |
\{r ‘ © = N
N N K |
2 | | |
! ! ! —
i X Co 1]
T T ™
EHEREENHE 1R
BN R B N N
NIRERENN N
R | -
SN R 1 T T R e )
)_--_i_--_< ‘ }_--_i_--ﬂ -
> T T
| | | |
| | | |
o] |
| | | |
| |
| a
3 &
o |
Q_ g _ i
M __l__f
_i7
16
L=400. 5EEE:2.36 kg
o B ® % HE B " &
1 AR 1 SS400 ® 20
2 NETVE 4 SS400 M20 1F&
3 | RAFYE 2 | SS400 M20 3F&
4 L kS 2 SUS304 M20
5 | BlVEY 2 | SUS304 b4 %40

20



MNALLEER

B

UARJLE ¢ 16 L300~ 400

Fittings for Insulator Adjustment U Bolt M16

%] SR01040000

(90150107-56)

80
M16 *.; | S "T"
1® | |
2 , '
DN | Do
- ' - =
| |
| |
| |
| S |
| ) i
@/t | i J
| 8|
<
1. 1|
o || !
| |
| |
| |
| |
| |
| |
__{JPL_
|
__\")__
L=400, BEEE 152 kg
i B & 4 HE B " &
1 AR 1 SS400 b 16
2 NETVE 4 SS400 M16 158
3 | RAFYE 2 | SS400 M16 37&
4 L kS 2 SUS304 M16
5 | BlVEY 2 | SUS304 b4 %40

21



MNLLEE (FTERA) roamnvamiw

Fittings for Insulator for V shape Suspension Type 1

in F-Tunnel, for High—speed Rail ~Shinkansen”

[X]# S105190000
(37200100)

2—918X 35
I =
Q ]
Qo
9]
M
40 150
240
| | -
| | \ _J_J_J‘_J_J“]
o | i
o ‘ :
-
L
| o |
“HE D
3 |1 2=2175
© 1
ol
I ay”
o |
¥ |
35 |40
75
NABR L EE OB HELYES,
HmES 365 ke
& B 5 A B E] # = %
1 ALLEE 15 | SS400 L75x75%9

22



MNLLEE (FTERA) o vamm

Fittings for Insulator for V shape Suspension Type 2 5 X & S105200000
in F—Tunnel, for High—speed Rail “Shinkansen (37200300)

2—¢18x 35
_________________ i N
Q _ )
0 o - _|If_
M~
0 i 4
™ |
40 150 50
240
|!| I ! ] J_J_!LL\
o] %) T
I
|
|
N
I
|
—l I
I
2 3 i
P % |
|
|
|
1 l%} i
o ! 'l 2-917.5
©
|
- {%/
o |
~ |
|
35 | 40
75
NABLITEAD2EELYES,
L=230, 1#HQEE=:11.06 kg
RIS B & 4 H=E ® B " &
1 A 2 $5400 L75%x75%9
2 fE R 2 $S400 FB50 %X 9

23



MNOLEE (FTEFRA) rvvsumars

Fittings for Insulator for Direct Suspension in PW-Tunnel, X & S105210000
for High—speed Rail ~Shinkansen (37201200)

210
100
| | | |
. | : i . | . l L i L |
e, i
H = _‘_
] N +
$17.5 9
30 75 75 30
O
N~
| N
2 B 2
' O
! 5
2—¢18X 35 35
(mm)
fE48 L BRES
Aflz | 120 | 1.75kg
BRz 70 | 1.50 kg
CHe 40 | 1.35kg
o 0} om A o= ® B " &
1 SESR 1 $S400 FB75%9
2 4R 1 $5400 t9

24



MALLEE

FRIVAERH
- . . 4
Fittings for Insulator for Direct Suspension in Tunnel 2% 5105240000
70 70 70 75
| | | |
| ; | | | : | | ; |
| L | L | . | | . |
| | | |
| o
‘ 0
, 'e]
M~
DAy -
N
” 1
QC_\/ $17.5
210
30 150 30
1
[\()
oK S —
| 1
35 O
15 | ¥
o
| .
|
HEES:1.36 ke
B BB & & = ! imr &
1 ALLEE SS400 L75x75%9




MALLEE

b ILVARER R (PWA)

Fittings for Insulator for Direct Suspension in PW-Tunnel

X 2 S105250000

R TN 1
f f [ N
‘.
|
|
|
|
|
|
|
|
(@] |
O |
: :
) |
L[') I
o |
|
|
|
|
|
|
l
O
N ||
| - 1T
: o~
A2 33 1 \33 9
\817.5
240
40 150 50
B 35 7
19
! M
Jwor - o
N —,
' 2
| J
4 . ; l
HNEEE:397 ke
B B & A H= # B " &
1 ALLEE 1 SS400 L75%75%9




MNULWLEER s

Fitting for Insulator @ 60.5

[X]# SR01030000
(90150117-6)

100
45 @\ 52

| (L L) 1

| \:\ I\:\ i
e

g B s e o

¢
¢
®
w,

12,1512
|

& | 918 |
50
HREE 257 ke
i B & 4 = # B " &
1 INUR 15 | S$S400 ¢ 60.5
2 | o2 EB 1 $S400 t16
3 | ARINEARILL-FUk 25 | $5400 M16 x 85 X 65
4 EhEE 2 SUS304 M16
5 | BlYEY 2 SUS304 4 % 40

2]



URILE szgs

U Bolt M16 for High—speed Rail “Shinkansen”

[X]#& ST21030000
(48201602)

DN

M16

/T

170

200

HNEEE:094 ke

i " &
1 AR 1 SS400 b 16
2 NATFTYE 2 SS400 M16 1F&
3 | RAFY+ 4 | SS400 M16 3f&
4 | BIYEY 2 SUS304 b4 x40

28



URILE  msgmwo

U Bolt M20 for High—speed Rail “Shinkansen” B ST21050000
80 M20
ik
| |
‘ .
|
]l
Iy
T
N R
i
i
i -
i
i
l
i
|
T
- m
| I
)] o8
i /
T
?/ o
L=400 BEE=:240 kg
i BB & HE # B " &
1 AR 1 SS400 b 16
2 | 1FHES 2 | SUS304 M20
3 NAETFTVk 4 SS400 M20 13&
4 | RAFIL 2 | SS400 M20 3F&
5 | BlVEY 2 | SUS304 b4 %40

29



L EIRBRIIFHE so0xsm0 Lo

5
Supporting Frame for Messenger Wire 5?9%?})%?%39%4)
_____ 0 m
. i i <
A;T__L'}' ——————————————————————————————————— 4|‘—L——:::::j>
530
-t /000000 __,_3_5_
tg]
- | ___ _Jd-_|
M 18%x 28
_C ol ] ¢ \{E 2l
M)
D | I O N |
{T? \L65x 65x 8 N ?q}
T 0
I ___| )
N
BEEE 1475 ke
B B & 4 HE # B " &
1 £ BA 2 SS400 L65 X 65 %8
2 £ BB 2 SS400 L65 X 65 %8
3 | ZARILE-FUk 2% | $S400 M16 L65FH




TR conmprssendm Egxms

SY31170000
Drop Arm for Mounting Suspension Pulley, Straight section .5(45200600)

T e 30, | 435

H2=H-D/2—144
H
| g [ [ | ﬁ

o (e
T it
Qﬁﬁo 917.5
D=267.4 H=700 & EE11.80 kg
i B & 4 HE # B " &

1 INUR 15 | S$S400
2 S 2= IAC ) 1 STK400
3 | RSAKNAT 1 STK400
4 | IomEE 1 SS400
5 | RARILL-FUb 45 | S$S400 M16 x 90 x 75
6 RAIVIRILE-Fub 25 | SUS304 M12 X 90 X 25
7 EhEE 4 | SUS304 M16
8 | BYry 2 | SUS304 $ 3.2 %32

31



THE sorexspsndmmexmm

Drop Arm for Mounting Suspension Pulley, Curve section

X & SY31020000
(455010)

H2=H-D/2—144

D=267.4 L=700 E EE16.70 kg

i B & 4 HE % B " &
1 INUR 15 | S$S400
2 S 2= IAC ) 1 STK400
3 | RSAKNAT 1 STK400
4 | IomEE 1 SS400
5 | RARILL-FUb 45 | S$S400 M20 x 90 x 75
6 RAIVIRILE-Fub 25 | SUS304 M12 X 90 X 25
7 EhEE 4 | SUS304 M16
8 | BlYEY 2 SUS304 $3.2x%32

32



TR A A be5mEe s BERME

Drop Arm for Mounting Suspension Pulley,
Air Section/Air Joint

[X]# SRO1170000
(90160502-6)

ey T

D

| ‘ |

[ ~

I I Q
@/\: ‘ I o~

] 5

| ! [ 0

] 2

N ~

| ‘ | 1

o

|

E:f‘.::_

| 2
<P $18
L=195, MG EE:331 kg
L=275. HGMEE:374 ke

B B & 4 = B " &
1 mitEE 15| SS400
2 | A 1 STK490 ¢ 60.5 % t4
3 ey J 2 S$5400 6
4 | A& B 1 S$5400 t16

33



HEOBRBA TR men wamasas

Drop Arm for Messenger Wire, [X]# SR01250000
Steel Pipe Type, for Parallel, Air Section/Air Joint (90150114-28)

1100
74@_3 _____ > Ty /
I E: T |
4 ' /
Wk T Il 1o
T B — T§|
k | )=
A ——— " — -i\i

2—31
7Kk & 7%
Ly — & —-—
200 700 200
$267 ELRES 6510 ke
i B & 4 HE # B " &
1 mE 2 | STK400 ©60.5 X t4
2 Ek:IAWIN 25 | SS400 t9
3 | EHREEA 4 | STK400 ¢} 76.3xt3.2
4 | EHEEB 4 | STK400 ¢} 76.3xt3.2
5 yJ 16 | SS400 t9
6 RAIVIRILE-Fub 85 | SUS304 M12 X 120 X 30
7 | EYEY 8 SUS304 $3.2%32

34



LEOEBIIFEER v

[%]# S101060000

Messenger Wire Suspension Fitting Type U (320006)

I

T TL ié% |
- d

50
38
(36.5)

75

LD
8] N
— R f
=
{__4\71_ _____45
i [ )
| $11.5
6| 16 |6
X YNHRIZSt1 /MDD B S
HWOFEE:061kg
RIS B & 4 = ® B " &
1 A 15| 55400
2 avERIILk-Fuk 15| 3400 M16 X 65 x 30
3 avERIILk-Fuk 15| 3400 M10 X 50 X 20
4 | BIVEY 1 SUS304 b4 %40
5 BUE 1 SUS304 $25x%25

35



LOIRRIFEE am

[%]# S101050000

Messenger Wire Suspension Fitting for Yoke (320005)

18
N
/ T
EHE R
- ; )
\T/

93 (91.5)
31

2 X () PISTEIESH 35BS
O
HREE:061 ke
RS BB & & = # B " &

1 AR 1 $S400
2 | RAIVIRILE-Fub 15 | SS400 M16 X 65 X 30
3 | BlVEY 1 SUS304 b4 %40
4 | BIVEY 1 SUS304 ®5 %50

36



HIOEBREEFEE sexoenn

Messenger Wire Suspension Fitting X2 SI01030000
for Direct Suspension with Clevis (32000300)
6 22 6 38
®17.5
__ | __
D
______L_______‘__é
i ]
! ) _ !
| ” |
N —— N T —
| gl © —)
38 | w ’
®\ | N |
D
ral =
, L) 1

18
¥ ()YA~TEIESt135miD IS &
HWEEE:076 ke

i B ® % HE # B " &

1 AR 15| SS400

2 | avARILE-Fuk 15 | S$S400 M16 X 65 X 30

3 | avARILE-Fubk 15 | SUS304 M10 X 50 X 20

4 | BIYEY 1 SUS304 ® 6 %50

5 | BlYEY 1 SUS304 b4 x40

6 | BYEY 1 SUS304 $25%25

37



LIOERIFEE wes

[X]# S101120000

Messenger Wire Suspension Fitting Type H Right Angle (32001500)

_ | |
®\7 ‘ $17.5 !
| [ ) Y

67
\
\

25

19
~NT

HWEEE:083 ke

i B & 4 HE # B " &
1 AR 1 SS400
2 RAIVIRILE-Fub 15 | SS400 M16 X 90 X 30
3 RAIVIRILE-Fub 15 | SUS304 M10 X 60 X 20
4 | BYE> 1 | SUS304 $4x40
5 | BEYry 1 SUS304 $25x%25

38



HIOEIBEIEFBE sa7m s
Messenger Wire Suspension Pulley (X2 S102110000
Parallel, Eye, 2 SUS Wheels (331006)
7 8
== T .
[ ]
a8
N\ l /] ) ‘ ( N l /]
[ ]
O
|
32 8175 6 6 6
- 1
N |
D)
\.J i \./
HOEE:180ke
RIS B & A #H= ® B " &
1 ARIAA 2 SS400
2 A1AB 2 SS400
3 BE 2 SUS304
BE 2 RYF7EE—IL
4 | Hh5— 1 STK400 b 21.7%12.3
5 NRAIVARILE-Fyk 15| 55400 M16 X 70 X 25
6 NRAIVARILE-Fyk 15| sUS304 M12 X 70 X 25
7 | ElYEY 1 SUS304 b4 %40
8 BUE 2 SUS304 $3.2%x32

39



BEOIRIRTEFBE sa7p 2mx rrRESA

Messenger Wire Suspension Pulley [X] 2 S102240000
Parallel, Eye, 2 SUS Wheels, for FP, Right Angle (331020)

[
Q

75

HNEEE:228ke

i & B & 4 = ® B " &
1 AIKA 2 | SS400
2 | &AB 1 $S400
3 JBE 2 SUS304
JBE 2 | RYFEE—IL
4 | h5— 1 STK400 b 21.7%2.3
5 RAIVIRILE-Fub 15 | SS400 M16 X 70 X 25
6 RAIVIRILE-Fub 25 | SUS304 M12 X 70 X 25
7 RAIVIRILE-Fub 25 | SUS304 M10 X 55 X 20
8 | BlYEY 1 SUS304 b4 x40
8 | ElYE> 2 SUS304 $3.2%32
8 | BlYEY 2 SUS304 $25x%25

40



DERRIFIBE wasvean s
-5 KD Ril FIHE FaoLERE 28R B4
Messenger Wire Suspension Pulley 5 [X] 2 S102070000
Parallel, CIeV|s 2 SUS Wheels, “"KAI-42 (331002)

32

HMREE:178ke

RS B & HE # B " &
1 KA 2 | SS400
2 | AIAB 2 | SS400
3 JBE 2 SUS304
JBE 2 | RYF7EE—IL
4 | h5— 1 STK400 b 21.7%xt2.3
5 RAIVIRILE-Fub 15 | SS400 M16 X 70 X 25
6 RAIVIRILE-Fub 25 | SUS304 M12 X 70 X 25
7 | BYEY 1 | SUS304 $4x40
8 | BYry 2 | SUS304 $ 3.2 %32

41



LRIOEMIIFFE SRl

Messenger Wire Suspension Pulley [X] 2 S102290000
Parallel, Eye, 4 SUS Wheels, for FP, Right Angle, Straight (332003)
110 100

LAI%
T

HEEE 400 ke

i & B & 4 = ® B " &
AR 1 $S400
2 BERMEE 4 | SS400
3 JBE 4 | SUS304
JBE 4 | RYF7EE—IL
4 | 3RIEEY 1 SUS304
5 ARAIVIRILE-Fyb 25 | SS400 M16 X 65 X 20
6 RAIVIRILE-Fub 45 | SUS304 M12 X 70 X 25
7 RAIVIRILE-Fub 15 | SUS304 M10 X 60 X 20
8 | BlYEY 2 SUS304 2.5 %20
9 | BIYEY 2 SUS304 b4x40
10 | BIYEY 4 | SUS304 $3.2%32
1| ZYEY 1 SUS304 $25x%25

42



HIORMBEFFBE svpewmz

Messenger Wire Suspension Pulley [X] & S102280000
for Droop Prevention, 2 SUS Wheels (331021)

ERHE | h
St9omri | 20.0
| St135mri

f
//
6

St135F HREE:1.90 kg

i B & 4 HE # B " &
1 PN 1 $S400
2 JBE 2 SUS304
JBE 2 | RY7EE2—IL
3 RAIVIRILE-Fub 15 | SS400 M16 X 90 X 30
4 | RAAVIHRILE-FIb 25 | SUS304 M12 X 70 X 25
5 | EYEy 1 SUS304 ®4x40
6 | EYEY 2 | SUS304 $ 3.2 %32

43



LIIRRIFFFE

FETRIER 28R [/ X1 T1AK351 A

Messenger Wire Suspension Pulley for Droop Prevention, %2 S102200000
Wheels, for 1 Movable Pipe Suspension (331016)
EAEE| h
St90mn | 20.0
St135mn | 21.5

KBEOHMEZRETDIL,

St135F HREE 213 ke

RS BB & & HE # B imr &
1| A& 1 $S400
2 BE 2 SUS304
BE 2 | RYFEE—IL
3 | ARAaVEARILE-FIk 15 | SS400 M16 % 90 X 30
4 | RAaVIHRILL-FUk 25 | SUS304 M12 % 70 X 25
5 | RAaVARILE-FVb 15 | SUS304 M10 X 60 X 20
6 | BYEY 1 | SUS304 $4x40
7 | =YLy 2 | SUS304 $32x%32
8 By 1 SUS304 @25x%x25

44



BEOEBIIFBE stwip 3t am ossm

Messenger Wire Suspension Pulley for Droop Prevention, 2 S102230000
Wheels, for 2 Movable Pipes Suspension (331019)

~ © FEAHGTE| h
| ‘ : st9omi | 20.0
] ____g@ St135mi | 21.5
T_ D)
| ) . KBEOHEEREROIE,
d ©
3 4

125 75

St135F HREE:235ke

RS BB & & HE # B imr &
1| A& 1 $S400
JBE 2 SUS304
BE 2 | RYFEE—IL
3 | ARAaVEARILE-FIk 15 | SS400 M16 % 90 X 30
4 | RAaVIHRILL-FUk 25 | SUS304 M12 x 70 X 20
5 | RAaVARILE-FVb 25 | SUS304 M10 x 55 X 20
6 | BYEY 1 | SUS304 $4x40
7 | =YLy 2 | SUS304 $32x%32
8 By 2 SUS304 @25x%x25

45



B & ORI IRE

B

A PH150

Messenger Wire Suspension Pulley for Curve, PH150mn

[X]# SR01290000
(331008)

jS
oo

HMRAEE:150ke

i B & 4 HE % B " &
1 AIKA 2 | SS400 FB32 %6
2 | R&KB 2 | SS400 FB32 %6
3 | JLER 1 $S400 FB44 % 6
4 | RAIVI—HRILE-Fub 15 | SS400 M16 X 80 X 28
5 ANAIVI—RILE-Fuk 25 | SUS304 M12 x 70 X 20
6 ANAIVI—RILE-Fuk 15 | SUS304 M10 X 60 X 20
7 | 47 1 STK400 $21.7%x12.3%23
8 BE 2 RUFTEE2—IL




15;5%%7?3'2?#5%3 PH356mi Hh &R F
X2 SR01260000

Messenger Wire Suspension Pulley for Gurve, PH356mm X 2 (90141211-1)

1
- 5
'&
! 3
- Wil s
PH356 X2 :j'i : 9
50 ! 50
100 45

HNEEE:790ke

i & B & 4 = ® B " &
1 REEE 1 FCD400
2 | AEXEFEE 15 | SS400 t12, ¢ 24
3 BEXEFEEE 4 | FCDA400
4 | BE 4 | RYh—ix—k | Bf
5 | R7YLy 4 | #Hipgal
6 BEEE 4 | SUS304
7 NETVE 4 SS400 M16 13&
8 ayA—mRILk-F Uk 15 | SS400 M16 X 65 X 30 X (8)
9 | BIYEY 13 | SUS304 b4x40
10 | avF—RILk-Fub 15 | SUS304 M8 x 50 X 15 X (4)
1| ZYEY 1 SUS304 $2x20

47



5L EHZE "f?B’Zﬁ B8 ppssemi EEE

Messenger Wire Suspension Pulley X% SR01270000
for Straight Line, PH356mn X 2 (90130613-4)

0
174

HWEEE:385ke

o B & 4 HE ® B " &
1 PN 1 $S400 t9
2 | BE 4 | RYh—HRHR—
3 | EEh 4 | SUS304 25
4 | R7Y2y 4 | HifgHl
5 | Ev 2 | SUS304 »10
6 | EEeE 1 FCD450-10
7 ayA—mRILk-F Uk 1 SUS304 M10 X 45 X 20
8 | UFrvuhk 2 | SUS304 M20
9 | Tui— 8 | SUS304 M20
10 | BlYE> 4 | SUS304 b4x40

48



